	T	1			1	1					
Route #	Aide (Y/N)	Veh Type	School	Times	Contractor Name	Vehicle Per Diem	Inc/Dec Per Mile	Aide Per Diem	Total Per Diem	Days	Total Route Cost
SR001			ARC Kohler School	9:00-3:00	First Care Medical Trans.	\$265.00	\$0.90	\$43.00	\$308.00	35	\$10,780.00
SR002		7 Pass	Academy 360	8:55-3:15	United Care Transportation	\$210.00	\$0.99	\$60.00	\$270.00	23	\$6,210.00
SR003		7 Pass	Academy 360	8:55-3:15	Cassidy Transportation	\$197.00	\$0.90	\$69.00	\$197.00		\$4,531.00
SR004		7 Pass	Academy 360	8:55-3:15	Empire Transportation	\$195.00	\$1.99	\$45.00	\$240.00		\$5,520.00
SR005		7 Pass	Academy 360	8:55-3:15	Empire Transportation	\$195.00	\$1.99	\$45.00	\$240.00	23	\$5,520.00
SR006		7 Pass	Academy 360	3:15 Only	Reliable Care Transportation	\$120.00	\$2.00	\$30.00	\$150.00	23	\$3,450.00
SR007		Cancelled	•			7	7=100	72000	7=0000		40,20000
SR008		7 Pass	Academy 360	8:55-3:15	Jaris Transportation	\$201.00	\$4.00	\$30.00	\$231.00	23	\$5,313.00
SR009		16 Pass	Academy 360	8:55-3:15	K&S Transportation	\$265.00	\$0.95	\$50.00	\$315.00		\$7,245.00
SR010		7 Pass	Allegro School	9:00-2:30	K&S Transportation	\$180.00	\$0.95	\$48.00	\$228.00		\$6,840.00
SR011		7 Pass	Allegro School	9:00-2:30	United Care Transportation	\$210.00	\$0.99	\$60.00	\$270.00		\$8,100.00
SR012		7 Pass	Allegro School	9:00-2:30	K&S Transportation	\$160.00	\$0.95	\$40.00	\$200.00		\$6,000.00
		7 Pass	Alpine Learning Group	9:00-2:45	K&S Transportation	\$195.00	\$0.95	\$50.00	\$245.00	30	\$7,350.00
SR016		Cancelled		7100 2110		4230100	40.30	450,00	Ψ=10100		47,000,00
SR017		7 Pass	Banyan School	8:30-12:30	D&J Transport	\$119.00	\$2.95	\$70.00	\$119.00	24	\$2,856.00
		7 Pass	Banyan School	8:30-12:30	K&S Transportation	\$182.00	\$0.95	\$40.00			\$4,368.00
		7 Pass	Banyan School	8:30-12:30	K&S Transportation	\$182.00	\$0.95	\$40.00			\$4,368.00
		7 Pass	Banyan School	8:30-12:30	Empire Transportation	\$220.00	\$1.99	\$45.00			\$5,280.00
SR021		7 Pass	Center School	8:45-3:30	Cassidy Transportation	\$211.00	\$0.90	\$92.00			\$4,220.00
SR022		7 Pass	Calais School	8:30-12:30	K&S Transportation	\$178.00	\$0.95	\$40.00			\$5,340.00
SR023		7 Pass	Calais School	8:30-12:30	Empire Transportation	\$175.00	\$1.99	\$45.00	\$240.00		\$7,200.00
SR024		7 Pass	Calais School	8:30-12:30	Empire Transportation	\$190.00	\$1.99	\$45.00		30	\$5,700.00
SR024		7 Pass	Calais School	8:30-12:30	K&S Transportation	\$178.00	\$0.95	\$40.00			\$5,700.00
SR025		7 Pass	Celebrate the Children	9:00-1:00	United Care Transportation	\$178.00	\$0.99	\$45.00	\$240.00		\$5,520.00
SR027		7 Pass	Celebrate the Children	9:00-1:00	Cassidy Transportation	\$193.00	\$0.99	\$80.00			\$2,760.00
SR029		16 Pass	Celebrate the Children	9:00-1:00	Lenoir's Transport Inc	\$167.00	\$2.50	\$59.00	\$226.00		\$5,198.00
SR029		24 Pass	Celebrate the Children		K&S Transportation	\$288.00	\$0.95	\$58.00	\$346.00		\$7,958.00
SR031		7 Pass	Celebrate the Children	9:00-1:00 9:00-1:00	Empire Transportation	\$175.00	\$1.99	\$45.00	\$175.00	23	\$4,025.00
		7 Pass							\$230.00	18	
			Center Grove School Center Grove School	8:30-12:00	K&S Transportation Sami Peadia Care	\$185.00	\$0.95 \$2.25	\$45.00 \$25.00		18	\$4,140.00
		•		8:30-12:00		\$249.00			\$274.00		\$4,932.00
SR034		•	Center Grove School	8:30-12:00	Empire Transportation	\$320.00	\$1.99	\$50.00	\$370.00	18	\$6,660.00
		7 Pass	ECLC	8:45-2:45	Narine Jr Transportation	\$288.00	\$2.00	\$50.00			\$5,760.00
SR036			ECLC	8:45-2:45	K&S Transportation	\$278.00		\$60.00			\$6,760.00
SR037		16 Pass	ECLC	8:45-2:45	K&S Transportation	\$265.00	\$0.95	\$50.00	\$315.00		\$6,300.00
		24 Pass	ECLC	8:45-2:45	K&S Transportation	\$300.00	\$0.95	\$48.00	\$348.00		\$6,960.00
		24 Pass	Central Ave School	9:00-1:00	K&S Transportation	\$315.00	\$0.95	\$48.00	\$363.00		\$7,623.00
		24 Pass	Central Ave School	9:00-11:30	K&S Transportation	\$280.00	\$0.95	\$48.00	\$328.00		\$8,856.00
			Central Park School	9:00-1:00	Fiossa Transit	\$171.00	\$2.00	\$51.00	\$222.00		\$5,994.00 \$9,520.00
		7 Pass	Central Park School	8:30-12:30	United Care Transportation	\$300.00	\$0.99	\$40.00	\$340.00		
			Central Park School	8:30-12:30	First Care Medical Trans.	\$275.00	\$0.90	\$50.00	\$325.00		\$9,100.00 \$7,084.00
		7 Pass	Central Park School	8:30-12:30	Cassidy Transportation	\$183.00	\$0.90	\$70.00	\$253.00		
		•	Central Park School	8:30-12:30	Sami Peadia Care	\$275.00	\$2.99	\$25.00	\$300.00		\$8,400.00
		-	Central Park School	8:30-12:30	First Care Medical Trans.	\$318.00	\$0.90	\$60.00	\$378.00	28	\$10,584.00
		Cancelled		0.00 2.00	Tamainta Turrer (*	ф4 5 6.00	⊕0 = 0	¢40.00	ф1 20 00	50	ΦΕ 4 CO OO
		7 Pass	Chapel Hill Academy	9:00-2:00	Lenoir's Transport Inc	\$172.00	\$2.50	\$48.00			\$5,160.00
		7 Pass	Frelinghuysen M.S.	8:30-12:30	K&S Transportation	\$185.00	\$0.95	\$48.00	\$233.00		\$5,825.00
		7 Pass	Chapel Hill Academy	9:00-2:00	K&S Transportation	\$185.00	\$0.95	\$50.00	\$235.00		\$7,050.00
		7 Pass	Chapel Hill Academy	9:00-2:00	Empire Transportation	\$180.00	\$1.99	\$30.00	\$210.00		\$6,300.00
		7 Pass	Childrens Center-Monmouth	8:45-1:30	Alyft Transport LLC	\$250.00	\$1.00	\$75.00	\$325.00		\$12,350.00
			CTC Academy	8:45-2:45	First Care Medical Trans.	\$284.00	\$0.90	\$50.00	\$334.00		\$6,680.00
			CTC Academy	8:45-2:45	Sami Peadia Care	\$299.00	\$2.99	\$50.00	\$349.00		\$6,980.00
SR058	Yes	7 Pass	Collier School	8:30-2:30	K&S Transportation	\$240.00	\$0.95	\$40.00	\$280.00	30	\$8,400.00

		T			T						1
Route #	Aide (Y/N)	Veh Type	School	Times	Outroto Novo	Vehicle Per Diem	Inc/Dec Per Mile	Aide Per Diem	Total Per Diem	Days	Total Route
SR059	No	7 Pass	Craig School	8:50-3:30	Contractor Name Empire Transportation	\$210.00	\$1.99	\$45.00	\$210.00	20	Cost \$4,200.00
SR060	Yes	7 Pass	Deron School	8:30-1:30	Best Trans Group Inc	\$149.00	\$2.00	\$48.00	\$197.00	30	\$5,910.00
SR061	Yes	7 Pass	DLC-New Providence	8:45-2:15	Cassidy Transportation	\$219.00	\$0.90	\$86.00	\$305.00	30	\$9,150.00
SR063	Yes	7 Pass	DLC-Warren	8:45-2:15	K&S Transportation	\$200.00	\$0.95	\$50.00	\$250.00	4	\$1,000.00
SR064	No	7 Pass	East Mountain School	9:00-2:15	Cassidy Transportation	\$200.00	\$0.90	\$108.00		28	\$6,132.00
SR065		7 Pass	ECLC ECLC		K&S Transportation					20	\$3,700.00
	No	7 Pass	EPIC	8:45-2:45		\$185.00	\$0.95	\$40.00 \$50.00	\$185.00 \$240.00	27	
SR066	Yes			8:45-2:45	Best Trans Group Inc	\$190.00	\$2.00	\$42.00	-		\$6,480.00
SR067	No	7 Pass	Essex Valley School	8:30-1:30	Empire Transportation	\$198.00	\$1.99		\$198.00	22	\$4,356.00
SR068	No	7 Pass	Essex Valley School	8:30-1:30	K&S Transportation	\$195.00	\$0.95	\$40.00	-	22	\$4,290.00
SR069	No	7 Pass	Fedcap School	9:00-2:00	Noor Transportation	\$160.00	\$3.00	\$52.00	\$160.00	5	\$800.00
SR070	Yes	W/C Lift	First Children's School	9:00-3:00	First Care Medical Trans.	\$355.00	\$0.90	\$60.00	\$415.00	34	\$14,110.00
SR071	No	7 Pass	Frelinghuysen M.S.	8:30-12:30	Empire Transportation	\$175.00	\$1.99	\$45.00	\$175.00	25	\$4,375.00
SR072	Yes	7 Pass	Garden Academy	8:45-2:45	Best Trans Group Inc	\$165.00	\$1.00	\$42.00	\$207.00	30	\$6,210.00
SR073	Yes	16 Pass	Garden Academy	8:45-2:45	K&S Transportation	\$285.00	\$0.95	\$50.00	\$335.00	30	\$10,050.00
SR075		e Cancelle	1								
SR076		7 Pass	New Beginnings	8:40-2:55	Lenoir's Transport Inc	\$182.00	\$2.50	\$55.00	\$237.00	30	\$7,110.00
SR077		7 Pass	New Beginnings	8:40-2:55	Cassidy Transportation	\$233.00	\$0.90	\$83.00	\$316.00	30	\$9,480.00
SR078	Yes	7 Pass	New Beginnings	8:40-2:55	K&S Transportation	\$190.00	\$0.95	\$40.00	\$230.00	30	\$6,900.00
SR079	Yes	7 Pass	Gramon School	8:40-2:55	Jaris Transportation	\$206.00	\$4.00	\$30.00	\$236.00	30	\$7,080.00
SR080	Yes	7 Pass	New Beginnings	8:40-2:55	A.F.M. Transportation	\$110.00	\$1.00	\$35.00	\$145.00	30	\$4,350.00
SR081	No	7 Pass	New Beginnings	8:40-2:55	Cassidy Transportation	\$235.00	\$0.90	\$100.00	\$235.00	30	\$7,050.00
SR082	Yes	24 Pass	New Beginnings	8:40-2:55	K&S Transportation	\$320.00	\$0.95	\$75.00	\$395.00	30	\$11,850.00
SR083	Yes	24 Pass	New Beginnings	8:40-2:55	K&S Transportation	\$295.00	\$0.50	\$60.00	\$355.00	30	\$10,650.00
SR084	Yes	24 Pass	New Beginnings	8:40-2:55	Rajak LLC	\$445.00	\$4.00	\$160.00	\$605.00	30	\$18,150.00
SR087	No	7 Pass	Greenbrook Academy	9:00-1:30	K&S Transportation	\$215.00	\$0.95	\$40.00	\$215.00	20	\$4,300.00
SR088	No	7 Pass	Harding Twp School	9:00-12:00	Cassidy Transportation	\$177.00	\$0.90	\$86.00	\$177.00	16	\$2,832.00
SR089	No	7 Pass	Hi Step	2:45 Only	Cassidy Transportation	\$77.00	\$0.90	\$80.00	\$77.00	23	\$1,771.00
SR090	Yes	7 Pass	Horizon School	8:30-2:30	K&S Transportation	\$210.00	\$0.95	\$50.00	\$260.00	3	\$780.00
SR091	Yes	W/C Lift	Horizon School	8:30-2:30	Empire Transportation	\$300.00	\$1.99	\$45.00	\$345.00	30	\$10,350.00
SR092	Yes	W/C Lift	Horizon School	8:30-2:30	Empire Transportation	\$345.00	\$1.90	\$45.00	\$390.00	30	\$11,700.00
SR093	Yes	W/C Lift	Horizon School	8:30-2:30	Sami Peadia Care	\$250.00	\$2.99	\$25.00	\$275.00	30	\$8,250.00
SR094	Yes	W/C Lift	Horizon School	8:30-2:30	First Care Medical Trans.	\$290.00	\$0.90	\$45.00	\$335.00	30	\$10,050.00
SR095	Yes	W/C Lift	Horizon School	8:30-2:30	First Care Medical Trans.	\$300.00	\$0.90	\$49.00	\$349.00	30	\$10,470.00
SR096		W/C Lift	Horizon School	8:30-2:30	K&S Transportation	\$270.00	\$0.90	\$60.00	\$330.00	30	\$9,900.00
		7 Pass	John Hill	8:00-1:00	Sami Peadia Care	\$165.00	\$2.99	\$35.00	\$165.00	8	\$1,320.00
SR100	Yes	7 Pass	Institute for Ed. Achievement	9:00-2:45	Best Trans Group Inc	\$172.00	\$2.00	\$45.00	\$217.00	30	\$6,510.00
SR101	Yes	7 Pass	Institute for Ed. Achievement	9:00-2:45	K&S Transportation	\$250.00	\$0.95	\$50.00	\$300.00	30	\$9,000.00
SR102	Yes	24 Pass	Jefferson Primary Center	9:00-1:30	K&S Transportation	\$380.00	\$0.95	\$50.00	\$430.00	22	\$9,460.00
	Yes	7 Pass	Kiel School	9:00-1:00	Jaris Transportation	\$201.00	\$4.00	\$30.00	\$231.00	30	\$6,930.00
SR104	No	7 Pass	Lake Drive School	8:30-2:30	Lenoir's Transport Inc	\$175.00	\$2.50	\$45.00	\$175.00	19	\$3,325.00
	Yes	7 Pass	Lake Drive School	8:30-2:30	K&S Transportation	\$220.00	\$0.95	\$50.00	\$270.00	19	\$5,130.00
SR106		7 Pass	Lakeview Learning Center	8:20-12:45	Best Trans Group Inc	\$178.00	\$2.00	\$50.00	\$178.00	30	\$5,340.00
	Yes		Lakeview School	9:00-3:00	Fiossa Transit	\$170.00	\$2.00	\$51.00	\$221.00	30	\$6,630.00
SR108	Yes	W/C Lift		9:00-3:00	First Care Medical Trans.	\$318.00	\$0.90	\$50.00	\$368.00	30	\$11,040.00
SR109	Yes	7 Pass	Lincoln School	8:30-12:00	United Care Transportation	\$200.00	\$0.99	\$50.00	\$250.00	29	\$7,250.00
	No	24 Pass	Madison H.S.	9:00-1:00	K&S Transportation	\$320.00	\$0.95	\$40.00		27	\$8,640.00
SR110 SR111		7 Pass	Martha B Day School	7:30-1:00	D&J Transport	\$78.00	\$2.95	\$70.00	\$78.00	25	\$1,950.00
	No	7 Pass 7 Pass	•								
SR112	No		Midland School	8:45-3:00	K&S Transportation	\$200.00	\$0.95	\$40.00	\$200.00	30	\$6,000.00
	Yes	7 Pass	Midland School	8:45-3:00	K&S Transportation	\$225.00	\$0.95	\$50.00	\$275.00	30	\$8,250.00
SR114		7 Pass	Midland School	8:45-3:00	K&S Transportation	\$225.00	\$0.95	\$50.00	\$275.00	30	\$8,250.00
SR115		7 Pass	Montgomery Academy	8:30-12:30	K&S Transportation	\$195.00	\$0.95	\$40.00		20	\$3,900.00
SR116	INO	7 Pass	Montgomery Academy	8:30-12:30	Cassidy Transportation	\$155.00	\$0.90	\$93.00	\$155.00	20	\$3,100.00

	T	1			1	T				ı	1
D4 #	Aide	Vals Tons	Ochocal	Time		Vehicle Per	Inc/Dec	Aide Per	Total Per	Days	Total Route
Route #	(Y/N)	Veh Type 7 Pass	School Marria Kralla II S	Times	Contractor Name	Diem	Per Mile	Diem	Diem	21	Cost
SR117	No		Morris Knolls H.S.	9:00-12:00	Empire Transportation	\$168.00	\$1.99	\$42.00	\$168.00 \$285.00	21	\$3,528.00
	No		Mountain Way	8:30-12:30	K&S Transportation	\$285.00	\$0.95	\$45.00	\$285.00	16	\$4,560.00
		e Cancelle		0.20 1.20	Empire Tuesday to the	¢220.00	¢1 00	¢45 00	¢265.00	20	¢7.050.00
SR120	Yes		Mt Carmel Guild	8:30-1:30	Empire Transportation	\$220.00	\$1.99	\$45.00	\$265.00	30	\$7,950.00
SR121	Yes	7 Pass	Mt Carmel Guild	8:30-1:30	K&S Transportation	\$200.00	\$0.95	\$50.00	\$250.00	30	\$7,500.00
SR122	No	7 Pass	Mountain Lakes H.S.	8:30-2:30	A.F.M. Transportation	\$100.00	\$1.00	\$25.00		19	\$1,900.00
SR123	No	7 Pass	Mountain Lakes H.S.	8:30-2:30	D&J Transport	\$110.00	\$2.95	\$70.00		19	\$2,090.00
SR124	No	7 Pass	New Road School	8:30-1:30	K&S Transportation	\$218.00	\$0.95	\$40.00		30	\$6,540.00
SR125	No	7 Pass	Newmark School	8:20-2:05	Cassidy Transportation	\$219.00	\$0.90	\$89.00	\$219.00	18	\$3,942.00
SR126	No	7 Pass	Nixon School	9:00-1:00	United Care Transportation	\$210.00	\$0.99	\$50.00	\$210.00	20	\$4,200.00
		e Cancelle									
SR128	Yes		PG Chambers School	9:00-3:00	K&S Transportation	\$315.00	\$0.95	\$65.00	\$380.00	30	\$11,400.00
SR129	Yes	-	PG Chambers School	9:00-3:00	First Care Medical Trans.	\$315.00	\$0.90	\$45.00	\$360.00	30	\$10,800.00
SR130	Yes	7 Pass	PG Chambers School	9:00-3:00	Empire Transportation	\$180.00	\$1.99	\$60.00	\$240.00	30	\$7,200.00
SR131	Route	e Cancelle	1								
SR132	Yes	W/C Lift	PG Chambers School	9:00-3:00	First Care Medical Trans.	\$340.00	\$0.90	\$50.00	\$390.00	30	\$11,700.00
SR133	Yes	W/C Lift	PG Chambers School	9:00-3:00	First Care Medical Trans.	\$332.00	\$0.90	\$60.00	\$392.00	30	\$11,760.00
SR134	Route	e Cancelle	i								
SR135	Yes	W/C Lift	PG Chambers School	9:00-3:00	Empire Transportation	\$340.00	\$1.99	\$45.00	\$385.00	30	\$11,550.00
SR136	Yes	W/C Lift	PG Chambers School	9:00-3:00	First Care Medical Trans.	\$302.00	\$0.90	\$43.00	\$345.00	30	\$10,350.00
SR137	Yes	W/C Lift	PG Chambers School	9:00-3:00	First Care Medical Trans.	\$349.00	\$0.90	\$49.00	\$398.00	30	\$11,940.00
SR138	Yes	W/C Lift	PG Chambers School	9:00-3:00	First Care Medical Trans.	\$390.00	\$0.90	\$30.00	\$420.00	30	\$12,600.00
SR139	Yes	W/C Lift	PG Chambers School	9:00-3:00	Empire Transportation	\$390.00	\$1.99	\$40.00	\$430.00	30	\$12,900.00
SR140	Yes	W/C Lift	PG Chambers School	9:00-3:00	First Care Medical Trans.	\$309.00	\$0.90	\$49.00	\$358.00	30	\$10,740.00
SR141	Yes	16 Pass	Phoenix Center	8:30-2:45	K&S Transportation	\$315.00	\$0.95	\$65.00	\$380.00	21	\$7,980.00
SR142	Yes	7 Pass	Phoenix Center	8:30-2:45	K&S Transportation	\$200.00	\$0.95	\$58.00	\$258.00	21	\$5,418.00
SR143	Yes	7 Pass	Phoenix Center	8:30-2:45	Brown's Transportation	\$145.00	\$0.50	\$30.00	\$175.00	21	\$3,675.00
SR144	No	7 Pass	Reed Academy	9:00-2:45	Lenoir's Transport Inc	\$175.00	\$2.50	\$45.00	\$175.00	30	\$5,250.00
SR145	Yes	7 Pass	Reed Academy	9:00-2:45	K&S Transportation	\$238.00	\$0.95	\$58.00	\$296.00	30	\$8,880.00
SR146	Yes	7 Pass	Robert Lazar M.S.	8:00-12:15	Sami Peadia Care	\$160.00	\$2.99	\$20.00	\$180.00	25	\$4,500.00
SR147	Yes	7 Pass	Rutgers Day School	9:00-3:00	K&S Transportation	\$265.00	\$0.95	\$50.00	\$315.00	35	\$11,025.00
SR148	Yes	7 Pass	Ryerson School	8:30-12:30	K&S Transportation	\$165.00	\$0.95	\$40.00	\$205.00	20	\$4,100.00
		7 Pass	Sage Day School	9:00-12:00	Empire Transportation	\$185.00			\$185.00	24	\$4,440.00
SR150		7 Pass	Sage Day School	9:00-12:00	United Care Transportation	\$180.00			\$180.00	24	\$4,320.00
SR151		7 Pass	Search Learning Group	8:30-2:30	K&S Transportation	\$200.00		\$45.00	\$245.00	30	\$7,350.00
SR152		7 Pass	Shepard School	8:30-2:00	K&S Transportation	\$215.00		\$50.00	\$265.00	30	\$7,950.00
SR153		7 Pass	Shepard School	8:30-2:00	Jaris Transportation	\$172.00		\$80.00		30	\$5,160.00
SR154		7 Pass	Shepard School	8:30-2:00	Cassidy Transportation	\$188.00		\$102.00		30	\$5,640.00
	Yes	7 Pass	Shepard School	8:30-2:00	United Care Transportation	\$220.00		\$40.00	\$260.00	30	\$7,800.00
SR156	Yes	7 Pass	Shepard School	8:30-2:00	K&S Transportation	\$200.00		\$50.00	\$250.00	30	\$7,500.00
	No	7 Pass	Shepard School	8:30-2:00	Jaris Transportation	\$158.00		\$80.00		30	\$4,740.00
	No	7 Pass	Shepard School	8:30-2:00	Best Trans Group Inc	\$150.00		\$45.00		30	\$4,500.00
	Yes	7 Pass	Shepard School	8:30-2:00	Jaris Transportation	\$172.00		\$30.00	\$202.00	30	\$6,060.00
		7 Pass	•	8:30-2:00	Cassidy Transportation	+		\$102.00		30	\$5,400.00
SR160		7 Pass 7 Pass	Shepard School Shepard School		Empire Transportation	\$180.00		\$42.00		30	\$5,400.00
SR161		7 Pass 7 Pass		8:30-2:00	Cassidy Transportation	\$168.00			\$193.00	30	
SR162			Somerset Hills Lrng Institute	8:30-2:30		\$193.00					\$5,790.00
	No	7 Pass	Stepping Forward	9:00-3:45	United Care Transportation	\$190.00		\$40.00		43	\$8,170.00
SR164		7 Pass	Stonybrook School	8:15-11:15	Cassidy Transportation	\$88.00		\$38.00	\$126.00	23	\$2,898.00
SR165		7 Pass	Therapeutic School	8:15-1:15	Noor Transportation	\$180.00		\$60.00		30	\$5,400.00
SR166		7 Pass	Willowglen academy	9:00-1:00	A.F.M. Transportation	\$130.00		\$30.00		30	\$3,900.00
	Yes	7 Pass	Windsor Learning Center	8:30-2:20	Jaris Transportation	\$163.00		\$30.00	\$193.00	30	\$5,790.00
SR168	Yes	7 Pass	Windsor Learning Center	8:30-2:20	K&S Transportation	\$225.00	\$0.95	\$50.00	\$275.00	30	\$8,250.00

	Aide					Vehicle Per	Inc/Dec	Aide Per	Total Per	Days	Total Route
Route #		Veh Type	School	Times	Contractor Name		Per Mile		Diem	Days	Cost
SR169	Yes	7 Pass	Windsor Learning Center	8:30-2:20	K&S Transportation	\$245.00	\$0.95	\$50.00	\$295.00	30	\$8,850.00
SR170	No	7 Pass	Windsor Learning Center	8:30-2:20	K&S Transportation	\$185.00	\$0.95	\$40.00	\$185.00	30	\$5,550.00
SR171	No	7 Pass	Windsor Learning Center	8:30-2:20	Cassidy Transportation	\$210.00	\$0.90	\$102.00	\$210.00	30	\$6,300.00
SR172	72 Route Cancelled										